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SIXTH SEMESTER
CS 1251 — COMPUTER ARCHITECTURE
ELECTRONICS AND COMMUNICATION ENGINEERING

(Common to Computer Scienceé and Engineering, Information
Technology for Fourth Semester)

Time: Three Hours Maximum:100 marks
ANSWER ALL QUESTIONS
PART—A (10x2=20 marks)

1. List the performance measutes of a computer.

2. What are aésembler directives? Give example.
3.  State the Restoring division algorithm.
4. What are Guard bits?

5. Distinguish between Hardwired control and Micro-

programmed control.

6. List the features of the addressing modes used in modern

pProcessors.

~

What is memory interleaving?
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11.

Compare SRAM and DRAM?

What is Program-Controlled /O?

List the sequence of events involved in handling an

interrupt request from a device.

PART-B (5%16=80 marks)

(@) () Explain in detail the various addressing (8)
modes with example.

(ii) Registers RI'and R2 of a computer contain (8)
the decimal values 2000 and 4000. What is
the effective address of the memory
operand-in each of the following and give
its addressing mode?

(1) Move #3000, R5
(ii) Add —-(R1),R5
(ii)Subtract (R2)+, R5
Or
(b) (1) Write a routine for push and pop in a (8)
stack. Also explain how to organize the

control and information linkage between
the main program and the subroutine.
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Explain the basic instruction types with
example.

Give the general rule for floating point
addition, multiplication and division
operation.

Multiply the following signed 2's
complement numbers using

(i) Booth multiplication
(ii) Bit-pair recoding téchnique.
A=001111, B=118010
Or

With neat diagram explain the 4-bit carry-
look ahead adder

Give the steps of Non-Restoring division
algorithm. Perform division operation for
the follewing operands A=1101 B=10

Write the sequence of control steps
required for the single bus and multi bus
organization for the following instructions

ADD R1, R2, R3 ---Add the contents of
register R1 to register R2 and store the

result in result R3.
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Or

() () With neat diagram explain the internal (8)
data path of a pipelined processor.

(i) With neat diagram explain the Hard-wired (8)

control unit.

14. (a}) (i) A byte addressable computer has a small
data cache capable of holding eight 32-bit
words. Each cache block consists of one 32-
bit word. When a given program is
executed the processor réads data from the
following sequence of hex addresses:

200,204,208,20C,2F4,2F0,200,204,218,21D
,24D,2F4,2F8
(i) Show the comtents of the cache at (5)
the end of each pass through this

loop if a direct mapped cache is
used.

(i}) Repeat part (A) for an associative- (6)
mapped cache that uses the LRU
replacement algorithm,

(il)Repeat part (A) for four-way set- (5)
associative cache.

Or

l M227




[image: image5.png]15.

()]

(a)

®)

&)

(i)

@

(i)

@)

(i)

‘Write short notes on Optical Disk.

Give the Virtual memory organization.
Also discuss the virtual-memory address
translation.

Explain the main phases involved in the
operation of SCSI bus.

Explain the two approaches to Bus
arbitration.

Or

Give the sequence of events in input data
transfer using handshake scheme.

Explain the methods to handle multiple
device requests
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